



DISKRETE MATHEMATIK UND OPTIMIERUNG

Stephan Dominique Andres:

Note on sums of binomial coefficients with roots of unity

Technical Report feu-dmo014.09

Contact: dominique.andres@fernuni-hagen.de

FernUniversität in Hagen
Fakultät für Mathematik und Informatik
Lehrgebiet für Diskrete Mathematik und Optimierung
D – 58084 Hagen

2000 Mathematics Subject Classification: 05E05

Keywords: algebraic combinatorics, generalized binomial coefficient, roots of unity, summation formula

Note on sums of binomial coefficients with roots of unity

Stephan Dominique Andres

Faculty for Mathematics and Computer Science, FernUni Hagen

Lützwowstr. 125, 58084 Hagen, Germany

Email: `dominique.andres@fernuni-hagen.de`

February 3, 2009

We prove the following

Theorem 1. *Let $n \geq 1$ and ζ_n be a primitive n -th root of unity. Then*

$$\sum_{j=1}^n \binom{\zeta_n^j}{n} = \frac{1}{(n-1)!}.$$

This statement seems to be very natural and is easy to prove. However, I did not find any reference mentioning this result. Therefore this note contains a proof of Theorem 1.

We denote by $z^{\underline{k}}$ the factorial

$$z(z-1)(z-2)\cdots(z-k+1),$$

where z is a complex number and $k \in \mathbb{N}$. Let $s_{n,k}$ be the number of n -permutations with k cycles. These numbers are called Stirling numbers of first kind. In particular, $s_{n,0} = 0$ for $n > 0$, and $s_{n,n} = 1$. The following Stirling inversion formula is well-known:

Lemma 2. *Let z be a complex number and $n \in \mathbb{N}$. Then*

$$z^n = \sum_{k=0}^n (-1)^{n-k} s_{n,k} z^k.$$

Proof of Theorem 1:

$$\begin{aligned}
\sum_{j=1}^n \binom{\zeta_n^j}{n} &= \sum_{j=1}^n \frac{(\zeta_n^j)^n}{n!} \\
&= \frac{1}{n!} \sum_{j=1}^n \sum_{k=0}^n (-1)^{n-k} s_{n,k} (\zeta_n^j)^k \\
&= \frac{1}{n!} \sum_{k=0}^n (-1)^{n-k} s_{n,k} \sum_{j=1}^n (\zeta_n^k)^j \\
&= \frac{1}{n!} \left((-1)^n \underbrace{s_{n,0}}_{=0} n + (-1)^0 \underbrace{s_{n,n}}_{=1} n \right) \\
&= \frac{1}{(n-1)!}
\end{aligned}$$

In the second step we use Lemma 2. In the fourth step we use that, if $\zeta_n^k \neq 1$, we have

$$\sum_{j=1}^n (\zeta_n^k)^j = 0.$$

This proves the Theorem.